PLANETARY GEAR BOX

AE/AF/ZBFZ7%l
SEETEIRIEN

< MATIR



< MATIR

;é : 2%@“% . “ ‘: 4 .‘/‘ﬂ w Z !‘. H.‘i' i‘

TRPANEEEENROBIRATNRET1998F , —REENIKA). FUFEN. BERERIE— AR L. &
&, HE, RETMBEBEEL. #8S. FARIT7R , RT1600A , iEFMEA800057T , 201758 BIERFTH/IMR
ARg E ( IREE{{A3002896 )

PARERKESHRATY , ESNSEREERRITWANEIR , FEHZFHREFEFISI , HEMIEREWHREFL,

PNENBTEREN. BaMUEREZOBMHESIIRIT A REMNE  BIEINEEMAR SRR, S5R&EE, M m
TR T MBUKHTICRREEN., MBS EORIEREEN. NERRRE AR, TRMIERS. BEIRETIRIRS. B
BEFREFAEFRIETF @,

ANEFMUEERASMENLNE |, IMZNAFTIUNEA. S8R, MeeR. TESTEWE , URER. 8%, &5
N BF. BErFETRiMRE. AERIIEHO~aNEH L B2 5ER=F.

Ningbo Zhongda Leader Intelligent Transmission Co., Ltd. was founded in 1998. It is an electromechanical automation enterprise integrating
R&D, manufacturing, sales and service of motor drives, micro motors, precision reducers and integrated products. It has 7 branches and subsidiaries,
1,600 employees, and a registered capital of 80 million yuan. In August 2017, it was listed on the A-shares of the Shenzhen Stock Exchange (stock
code 002896).

The company is a national-level high-tech enterprise, leading and participating in the drafting of 9 national and industry standards, maintaining
95 patents, and owning a Zhejiang-level enterprise R&D center.

The company is based on intelligent and automation equipment core component manufacturers and design solution providers. Through
independent research and development by the team and cooperation with scientific research institutes and universities, the company has formed the
main products of nearly a thousand varieties of micro permanent magnet gear motors, micro AC gear motors, small AC gear reducer motor, planetary
reducer, precision cycloidal pinwheel reducer, motor controller and other product series.

With its differentiated and cost-effective advantages, the company's products are widely used in industrial robots, intelligent logistics, new
energy, machine tools and other fields, as well as special machinery and equipment for food, packaging, textiles, electronics, and medical treatment.
On the basis of realizing domestic substitution of imported products, gradually participate in international competition.



AE/AF R 5IiREH
AE/AF SERIES GEAR BOX

M Z)#RE Sectional Drawing

2 M dv/av

@ it Output shaft

@ i35 Front cover

® jHET Oil seal

@ HH4hBTHE Output shaft front bearing
® 1724 Planetary gear

® WS 4H7% Output shaft rear bearing
@ IS Front cover

J555 Rear cover

® APFE%E Solar wheel P03
@© BX4MES4h7 Coupling

@ BXHhES Coupling

© IEELEEHE= Rear cover

S31¥3S 4v/3v

B E5S. PEIRRBEEE Type And Model Number

AE/FIREEH]L AE/F Reducers \ {EIBREEATL Servo Motor

60 AE/F 10 () (S) - 400 T
©» @ ©® @ & 6 O

IREHALEES: 060 Gear head frame size: 060
RN RS- Gear head series code:
@ AE ERREE=ZFRS AE: Round mounting flange series
AF: FREEEZRT AF: Square mounting flange series
TRIELL: 10 Gear ratio: Single stage 10
HLEEE Cabin seat ¥ Series FREES (218 ) Standard (omitted)
1 5
60AE/F
#BEE Accuracy 2 7
@ AR E AR HRER £ 3% A9E 1 5
Output shaft load value at =3% of allowable output torque 90AE/F 2 7
1 5
120AE/F
2 7
1
160AE/F 5
2 7
EYNEHEL, Input shaft type
S: BABE (BIR) ( LiCDAERA B RS (EA ) S: Overall locking (Omitted) (Can be used regardless of whether the motor has a keyway)
® S1: HHENSE ( LI DAERDEREERaEA ) S1: Locking with locking ring (Can be used regardless of whether the motor has a keyway)
S2: THIEIEBIR (BN ) S2: Lock with keyway (Input shaft with key)
K: TiEEE K: With keyway
A: EfthiEfEs (B TALEEKR ) A: Other adapters (Please contact us)
©® EFRERDIATIE (W) Applicable servo motor power (W)
@ WMNE=SERBIXBRTER () Corresponding dimension table of input flange and servo motor ( )




AE/AF 255217 2 miEN
AE/AF PLANETARY GEAR BOX

M 7= 5 & Product Diagram

>
T :
>
M
wn
m
A
m
2 M #35 AR =%} Technical Information
FEERELS Product type 60 90 120 160 JIEREE Reduction ratio # Series
34 85 144 342 3
P04 33 95 200 542 4
38 105 220 650 5
36 93 200 550 7 !
30 83 180 500 8
26 70 155 450 10
48 115 209 342 12
48 115 209 342 15
NN 47 130 275 500 16
FREH) HiA%E Rated output torque N.M o 20 s 2 »
50 135 280 650 25
45 120 260 600 32
45 125 265 550 35 2
43 115 245 500 40
50 135 280 650 50
37 83 180 600 64
32 83 180 500 80
29 73 165 450 100
A Life /)NBT Hour 20000
B%E)&=H%E Instant emergency stop torque N.M 2EENER H 4B 2 times rated output torque
F=ERELS Product type 60 90 120 160 B4(7 Company 7] Series
EAFZ[A] Radial force 750 2100 2520 7000 N -
BAAHEF Axial force 375 1050 1260 5000 N -
EIER Full load efficiency =97 % 1
>94 2
o 09 25 65 18 1
TR Weigh 12 30 72 20 kg 2
T{FREE Operating temperature -10~+90 °C -
{R4FZE4, Protection level P65
JEB75 =, Lubrication method #2385 Lifetime lubrication
L7 Installation method {EE Any

BARANSEAMAS , EH100RPMAT , YEFEFEHiHT OIS (1/2)kb,

Maximum radial force and maximum axial force, when the output is T00RPM, it acts on the center position (L/2) of the output shaft.



AE/AF 255217 EmiE
AE/AF PLANETARY GEAR BOX

4v/3av

M 5 A &¥$ Technical Information ,;?
FEERELS Product type 60 90 120 160 ALY, Reduction ratio 2 # Series
0.15 0.69 2.94 9.21 3
0.12 0.50 2.27 7.54 4
0.10 0.46 2.10 7.42 5 .
0.10 0.42 2.00 7.14 7
0.10 0.42 2.00 7.07 8
0.09 0.39 1.90 7.03 10
0.06 0.32 1.50 2.71 12 I'%I
0.05 0.29 1.13 2.71 15 S
. o , 0.06 0.32 1.1 2.71 16
FMRE Moment of nertia Kgem 0.05 0.29 0.99 2.71 20 (-g
0.05 0.29 0.98 2.71 25 m
0.05 0.26 0.89 271 32 A
0.05 0.26 0.89 2.7 35 2 m
0.05 0.26 0.89 2.71 40 »
0.05 0.26 0.89 257 50
0.05 0.26 0.89 257 64
0.05 0.26 0.89 257 80 —
0.05 0.26 0.89 2.57 100 P05
T=EREYS Product type 60 90 120 160 REY Series
s arcmin <5 <5 <5 <5 14 One series
[Ef2E)P& Backlash 4> <8 =3 <8 <7 24% Two series
$UHSMME Torsion resistance N.M/arcmin 1.8 45 12 38 -
17 Noise dB(A) 63 -
R iHEEE Output speed min” 4500 4500 4500 4500 -
HEFZEINEEIE Recommended input speed min’ 3000 3000 3000 3000 -

1. EEINBESHNIMAEXR, Moment of inertia is related to input shaft.
2. IBEEAE | BB 1m , TEINEEIR300045 /95 25T MI4S, Noise detection standard, distance 1m, measured at input speed of 3000 rpm with no load.



>
0
>
>
%
m
7L
m
%)

P06

EfTERIEN S

AE PLANETARY GEAR BOX-MECHANICAL PARAMETER

Il R <J& Dimensional Drawing

8 NInput
L1
i L2 L3 L4 ®
L8 01 -
L6 L7
a8 a 81 3 8
U L5
L9
4-G1
B R <% Dimensional Table (£ f5zUnit: mm]
FEERELS Product type 60AE 90AE 120AE 160AE
%7 Number of stage 1 2 1 2 1 2 1 2
L1#B{KSIS L1 overall length 116 126 151 165.5 196 207 284.5 323
L3FEMMKRE L3 body length 57 67 71.3 91.8 93 104 131.5 170
g i Output
L4 L4 output shaft length 35 40 55 87
L5HHAHHSZ4M/E L5 output length to the shaft shoulder 305 36 50 80
L6 L6 key length 25 28 40 70
L75EZ=47RIH1S LT key length to shaft end 2.5 4 5 5
L8(EE42 L8 spigot length 3 3 4 5
D4H4MER D4 output shaft diameter ®14h7 ®20h7 ®25h7 D40H7
DS3HEEL/2 D5 shaft shoulder diameter ®20 ®30 ®40 ®45
D6ERIEER D6 spigot length ®40h7 ®60h7 ®80h7 ®130H7
D74E{KE42 D7 body diameter D61 ®90 P15 ®160
D8Z%EF,557R[& D8 hole circle ®52 d70 ®100 ®145
B1$2%% B1 key width 5 6 8 12
H1%25S H1 key height 16 225 28 43
G222 2E8247F|, G2 mounting screw hole M5X10 M6X12 M10X16 M12X20
G35 MELSIFL G3 center screw hole M5X15 M6X18 M10X22 M12X25
85 N Input
LR BEZ AR L2 input flange length 2% 337 48 66
LOEEATL4HIE L9 motor shaft length 30 40 58 79
L10ERIMASE L10 spigot depth 10 10 10 10
D1&ZEF,537R[& D1 mounting hole distribution circle 70 »90 D145 200
D2ENIYEETR D2 spigot diameter ®50G7 ®70G7 ®110G7 ®114.3G7
D3NS4/ D3 input shaft diameter <14G7 <19G7 <24G7 <35G7
G1LZEREYFLXFE G1 mounting threads X depth M4X10 M5X12 M8X21 M12X25
Q3 N\iZ= Q3 input flange 160 180 130 0175




AF{TEREN S
AF PLANETARY GEAR BOX-MECHANICAL PARAMETER

B R <F'E& Dimensional Drawing

85 Output i NInput
L1
D10 03
12 L3 L4
1 /m L1 18
oy ‘ o, ]
o e
i SR
{o)—{ =\ ~4--(O)- 8 8 5 B' %8
G3 n
) &7 M =
o Yo & i
4-D9IEFL L9
Il R~F 3 Dimensional Table [ fZUnit: mm]
FEEREYE Product type 60AF 90AF 120AF 160AF
% E7 Number of stage 1 2 1 2 1 2 1 2
L1FEMREUL L1 overall length 116 126 151 165.5 196 207 284.5 323
L3FEMEEE L3 body length 57 67 7713 91.8 93 104 1315 170
8t Output
L4HEHE L4 output shaft length 35 40 55 87
L5HHFHH< Z=41/5 L5 output length to the shaft shoulder 305 36 50 80
L6521<E L6 key length 25 28 40 70
L7EE=HZRIFIS L7 key length to shaft end 25 4 5 5
L8 E4R L8 spigot length 3 3 4 5
L1143 %=/=Z L11 output flange thickness 8 10 16 15
DAHHAHEL/R D4 output shaft diameter ®14h7 ®20h7 ®25h7 ®40H7
D54I/E B4R D5 shaft shoulder diameter ®20 ®30 ®40 ®45
DEERIYEAEFR D6 spigot length ®50h7 ®80h7 ®110n7 ®130H7
D7#E{AE1Z D7 body diameter ®61 ®90 ®115 ®160
D8Z%EFL5>7RIE D8 hole circle »70 ®100 »130 ®185/d200
D9;E=%%57, D9 mounting hole P55 6.5 ®8.5 ®11/d13.5
D10Z2EF,5>75[E] D10 hole circle 62 190 115 [1160/(1175
B1422% B1 key width 5 6 8 12
H14E5 H1 key height 16 225 28 43
G37RMEEFL, G3 center screw hole M5X15 M6X18 M10X22 M12X25
4 Nii Input
L2 NI E=4<E L2 input flange length 24 33.7 48 66
LOEBA4HI<E L9 motor shaft length 30 40 58 79
L10FERZIM AR L10 spigot depth 10 10 10 10
D1Z£2£7,%5%0[&E] D1 mounting hole distribution circle 70 90 145 200
D2TENIMEER D2 spigot diameter ®50G7 ®70G7 ®110G7 ®114.3G7
D34 4472 D3 input shaft diameter <14G7 <19G7 <24G7 <35G7
G1ZZEBAFLXGRE G1 mounting threads X depth M4X10 M5X12 M8X21 M12X25
Q3% \iE= Q3 input flange 60 80 130 0175

4v/3av

™

2

af

S31¥3S 4v/3v

P07



ZBF 25 imiEH
/BF SERIES GEAR BOX

M 23R E Sectional Drawing

@ 4 Output shaft

@ HiiZ= Front cover

® jHE 0il seal

@ HyHHETiHA Output shaft front bearing
® 4724 Planetary gear

® HiHimEH& Output shaft rear bearing
@ PISES Front cover

S5 Rear cover

® APFE%S Solar wheel

@ BX4mESHHR Coupling

@ BX4HES Coupling

© 1EFCEBHLIE= Rear cover

N
w
=
v
m
2
m
7

W E52S . HLEEFIREEE Type And Model Number

ZBFiREEAT], ZBF Reducers \ {FBBEEAL Servo Motor

60 ZBF 10 () (S) - 400 i

®» 2 © @w & e O

@ RN ALEES: 060/090/115/142/180 Gear head frame size: 060/090/115/142/180
® IRENATULS: Gear head series code:
©ZBF BRI EZRD ZBF: Square mounting flange series
@ FpEEL: 10 Gear ratio: Single stage 10
#1EEE Cabin seat RE Series SRS (EB& ) Standard (omitted)
1 3
060ZBF
2 5
1 3
090ZBF
¥5/E Accuracy 2 5
@ e E AT HIHAER £ 3% HE 1 3
Output shaft load value at +=3% of allowable output torque 115ZBF 2 5
1 3
142ZBF
2 5
1 3
180ZBF
2 5
ENGHAIE Input shaft type
S: BASE (B) (LICDAREEEEErnIEA ) S: Overall locking (Omitted) (Can be used regardless of whether the motor has a keyway)
5 ST HHEMME ( T DAEEEREEa(ERA ) S1: Locking with locking ring (Can be used regardless of whether the motor has a keyway)
S2: TEREERIR (N ) S2: Lock with keyway (Input shaft with key)
K: ToiEE K: With keyway
A: EhiERRSS (BT ALNTERR ) A: Other adapters (Please contact us)
® ERERZAINE (W) Applicable servo motor power (W)

BMNE=SERBINRRTE () Corresponding dimension table of input flange and servo motor ( )




ZBF RZIEZ1TERIEN
/BF PLANETARY GEAR BOX

M 75 B Product Diagram

M 5 A E¥$ Technical Information

S31¥3S 497

FEERELS Product type 060 090 115 142 180 JHIERLY Reduction ratio 2% Series

45 120 198 332 578 B

40 130 280 532 1040 4

50 150 320 650 1190 5 1 PO

40 130 290 540 1090 7

& 110 250 490 990 8

30 90 220 440 890 10

45 120 198 332 578 15
MR e " 40 130 280 532 1040 20
Rated output torque ' 50 150 320 640 1190 25

40 130 290 540 1190 35

35 110 250 490 990 40 2

50 150 320 640 1190 50

45 140 300 590 1090 64

40 130 290 540 1090 70

35 110 250 490 990 80

30 90 220 440 890 100
F5ap Life /)\ETF Hour 20000
IﬂirisltE:—lyi%‘l ﬁi?gﬁcy stop torque N.M 2{ZETELH /%5 2 times rated output torque
FEERELE Product type 060 090 115 142 180 EA{S7 Company ¥4 Series
B ARME7] Radial force 1100 3000 6023 9230 13500 N -
BAAHE S Axial force 630 1230 2550 4200 7000 N -
THEGER Full load efficiency =97 % !

>94 2

E& Weight 0.9 25 6.5 6.5 6.5 ke 1

1.2 3.0 1.2 1.2 1.2 2
T{EBE Operating temperature -10~+90 °C

{R4PEEL, Protection level

IP65

875 Lubrication method

2 53iH;8 Lifetime lubrication

24755, Installation method

{EE Any

RARRDSRAMES , HH100RPMET , (EFFRLHMPOMUE(2)40.

Maximum radial force and maximum axial force, when the output is 100RPIM, it acts on the center position (L/2) of the output shaft.



ZBF 2IEZ1TERIEN
ZBF PLANETARY GEAR BOX

M A &¥$ Technical Information

= ERBYS Product type 060 090 115 142 180 JAIELY Reduction ratio ¥ Series
0.16 0.61 3.25 9.21 28.98 3
0.14 0.48 2.74 7.54 23.67 4
0.13 0.47 2.71 7.42 23.29 5 1
0.13 0.45 2.62 7.14 22.48 7
0.13 0.44 2.58 7.07 22.59 8
0.13 0.44 2.57 7.03 22.51 10
N 0.03 0.13 0.47 2.71 1.42 15
%-il whRE ot 0.03 013 047 271 742 20
0 Moment of inertia 0.03 0.13 0.47 2.7 7.42 25
m 0.03 0.13 0.47 2.1 1.42 35
E 0.03 0.13 0.47 2.1 7.42 40 2
m 0.03 0.13 0.44 2.57 7.03 50
wn 0.03 0.13 0.44 2.57 7.03 64
0.03 0.13 0.44 2.57 7.03 70
0.03 0.13 0.44 2.57 7.03 80
0.03 0.13 0.44 2.57 7.03 100
T=EREYS Product type 60 90 115 142 180 RE Series
s arcmin <3 <3 =<3 <3 <3 14% One series
[BIf21&)B& Backlash M <5 <5 <5 <5 <5 24% Two series
$UHHSMME Torsion resistance N.M/arcmin i 14 25 50 145 -
7S Noise dB(A) <63 -
BRI HHEEER Output speed min’ 10000 8000 8000 6000 6000 -
aﬁefﬁ‘l};ﬁ%nput speed min’ 4000 4000 4000 3000 3000 )

1. ENBESHNAEX, Moment of inertia is related to input shaft.
2. IREEREARE | BEESIm , TEMINEEIE300045 /4 2S5 ATMI4S. Noise detection standard, distance 1m, measured at input speed of 3000 rpm with no load.



ZBFiTERIEN S
/BF PLANETARY GEAR BOX-MECHANICAL PARAMETER

B R <TE& Dimensional Drawing

8 Output

BN Input
L1
03
L2 L3 L4
1 /Dj L1 L8
je e gl —— N
*8‘1 ‘_—>LB r—i i|'i|
_ L 1 7))
-{0)-—t=|{- -+~ 8 8 5 = ﬁ 8 m
G3 U s E
) L10 m
\@/ N \gé, = (7))
. © / —— -
! 4-D9E7L | L9
D7
P11
Il R~J 3 Dimensional Table [Ef7Unit: mm]
FEERELS Product type 060ZBF 090ZBF 115ZBF 142ZBF 180ZBF
%7 Number of stage 1 2 1 2 1 2 1 2 1 2
L1$&#RE4< L1 overall length 121.5 131.5 153 167.5 208 219 295.3 3305 295.5 3525
L3FEHR<E L3 body length 60.5 705 71.3 85.8 95 106 132.3 167.5 141 198
it Output
L4 L4 output shaft length 37 48 65 97 105
L5HAHHZ4M/E L5 output length to the shaft shoulder 28.5 36 51 79 82
L6FEIRE L6 key length 25 32 40 70 70
L75EZ4ARIH1S LT key length to shaft end 2 2 5 4 6
L8 E42 L8 spigot length 7 10 12 15 20
L11%5HR =2 L11 output flange thickness 8 10 14 15 20
DAHH4HET/R D4 output shaft diameter ®16H7 ®22H7 ®32H7 ®40H7 ®55H7
D54MEE{R D5 shaft shoulder diameter ®20 ®30 ®40 ®50 ®65
D6ERIIEER D6 spigot length ®50H7 ®BOH7 ®110H7 ®130H7 ®160H7
D745{RET2 D7 body diameter ®61 ®90 »115 »142 ®180
D8ZEF, 5> #R[E] D8 hole circle ®70 ®100 ®130 ®165 ®215
D9;%=ZZEF(, D9 mounting hole ®5.5 6.5 ®8.5 P11 P13
D10 ;£=i41%& D10 mounting width 62 90 0120 142 1180
B142%3 B1 key width 5 6 10 12 16
H1%255 H1 key height 18 225 35 43 59
G37R/MEEFL, G3 center screw hole MB5X15 M6X18 M12X28 M16X36 M20X42
NI Input
L2 NIE=4<E L2 input flange length 24 33.7 48 66 495
LOEBATL4HEE L9 motor shaft length 30 40 58 81 81
L10ZEALM AR L10 spigot depth 10 10 10 12 12
D12E7,53%0[E D1 mounting hole distribution circle 70 D90 d145 200 200
D2ERIEER D2 spigot diameter ®50G7 ®70G7 ®110G7 ®114.3G7 ®114.3G7
D34 N5h4HH/Z D3 input shaft diameter <P14G7 <®19G7 <P24G7 <P35G7 <®35G7
G1ZZEB4FLXGRE G1 mounting threads X depth M4X10 M5X12 M8X21 M12X28 M12X28
Q3% N\iE= Q3 input flange 160 180 130 176 176




=
o
_|
o
Py
=
—
o)
=
Z
®
—
>
o
w
m

{RREBHYMR T E
SERVO MOTOR CORRESPONDING SIZE TABLE

I R EEE S A\ i Gearbox Input

EESNEZZ=5ERBHNIIRR TR Input Flange And Servo Motor Matching Table

PEGT
PDG7

@

ChES et 2657l, tE iz 1o LECREE ehfep
Motor Power EE‘*”'R,‘_I Installation Distance| Threaded Hole Frame Aperture Stop Stop Depth Shaft Extension

(W) Motor Size A 5 5 5 = = |
T 45 M3 38 8 30 3 25

T2 46 M4 40 6 30 3 25

%0 T3 47 M4 40 8 30 3 25
T4 48 M3 42 8 30 3 25

T 45 M3 38 8 30 3 25

100 T2 46 M4 40 8 30 3 25
T3 46 M4 40 8 30 3 25

T4 48 M3 42 8 30 3 25

T 70 M4 60 " 50 3 30

200 T2 70 M5 60 14 50 3 30
T3 70 M5 60 14 50 3 30

T 70 M4 60 14 50 3 30

400 T2 70 M5 60 14 50 3 30
T3 70 M5 60 14 50 3 30

T 90 M5 80 19 70 3 35

T2 90 M6 80 16 70 3 40

750 T3 90 M6 80 19 70 3 40
T4 100 M6 86 16 80 3 35

T5 145 M8 130 19 110 6 58

T6 100 M6 86 19 80 3 40

T 100 M6 90 19 80 3 55

T2 115 M6 100 24 95 3 45

T3 115 M8 100 24 95 5 45

1000 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70

T6 115 M8 100 22 95 5 45

T7 145 M8 130 24 110 3 55

T 115 M8 100 19 95 3 55

T2 115 M6 100 24 95 3 45

T3 115 M8 100 24 95 3 45

1500 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70

T6 115 M8 100 22 95 5 45

17 145 M8 130 24 110 3 55




R MR T %
SERVO MOTOR CORRESPONDING SIZE TABLE

BisANiE=5ERBHITHR T F Input Flange And Servo Motor Matching Table

BRI el 1R F, IBHE e flalm| WORE AR
Motor Power EEM‘R,\_I Installation Distance| Threaded Hole Frame Aperture Stop Stop Depth Shaft Extension

(W) Motor Size A 5 B 0 . ; |
T 115 M8 100 19 95 3 55
T2 115 M6 100 24 95 3 45

2000 13 115 M8 100 2 95 3 45 %
T4 145 M8 130 22 110 6 58 —
15 200 M12 130 35 114.3 10 80 ©)
T6 115 M8 100 22 95 5 45 2
T 115 M8 100 19 95 3 55 >

2500 -
T2 115 M6 100 24 95 3 45 @)
T 130 M8 120 22 110 3 55 E
T2 145 M8 130 28 110 6 65 Z

3000 T4 145 M8 130 24 110 6 65 G_|)
T5 200 M12 175 35 114.3 10 80 >
T7 200 M12 175 35 114.3 10 65 E
T 130 M8 120 22 110 & 55 m

3500 T2 145 M8 130 28 110 3 63
T5 200 M12 175 35 114.3 10 80 P13
T 145 M8 130 24 110 6 65

4000 T2 145 M8 130 28 110 6 65
5 200 M12 175 35 114.3 10 80
T6 200 M12 175 42 114.3 10 13
T 145 M8 130 24 110 6 65

4500 T5 200 M12 175 35 114.3 10 80
T6 200 M12 175 42 114.3 10 113
T7 200 M12 175 &5 114.3 10 65
T 145 M8 130 24 110 6 65
T2 145 M8 130 28 110 6 65

5000
5 200 M12 175 35 114.3 10 80
17 200 M12 175 35 114.3 10 65

ENREHEESRI TR |, REmHNDREFEINT .

If an oil-seal is not present and the size is different, attachment of the oil-seal may correspond to special order, in some cases.
7E2) SRR, R ERANT R,

If the motor shaft is of D-cut and taper type, it corresponds to a special order.

ETEIMEREERBIT R, SEFS | BRINSARTRR.

Out-of-standard may correspond to a special order in some cases, For details, contact us.



>
7))
7
m
<
o)
r
<

P14

£
ASSEMBLY

B RE DA Assembly Procedure

BFBETREARDAR |, BRUTRWHTRE. ARDENRISMHSHE , RIEENTmI , BEDATRSTEEEE= , B, —EREREITHE
FHEERIDIA,

If a customer personally assembles the servo motor and reducer please use the following tip. The reducer flange to which the servo motor is attached has different dimensions based
on the motor specified .Therefore,assembly may be impossible for some motor.Make sure the correct motor is specified before ordering the reducer.

1. RETEDIX Spec. In Case Of Assembling A Motor Without Key ® AE/AF B5REE
AE/AF Series Schematic Diagram

OB RN | Feahii NG , FIZEeSANETIZETRAS. FRAEEEBEENTT.
Take off the rubber cap, turn the input shaft, and match the head of the bolt to the hole of the rubber
cap. Make sure that the set bolt is loosened.

QRS MFRHENRAG (IBRRAZEEIWERIEN ) . BROITEABLEDE
IRHEN.
Gradually put the motor shaft into the input shaft (Ensure that it is smoothly put in without iam). Be
careful not to be inserted with the motor tilted.

OBIAEFEAEN.L , FHHEEIHEEIRRITR, &EFK

Attach the motor to the reducer and fasten the bolt with designated fastening torque. See Table 1.

OEFIERTSTE  WEENNEEHNENERRLTE, 2558 [] []
Fasten the set bolt of the input shaft with designated fastening torque wrench, etc. See Table 2.
O HEAIE. LEFNLER, = =
Put on the rubber cap. It is the end of assembling.
@ K1 Tablel
LLiXEE8842 Motor Combination Bolt F7R4BYE Fastening Torque
(N-m) (kgf-cm)
M3 1.0 10
M4 3.0 30
M5 5.8 60
M6 9.8 100
M8 19.6 200
M10 39.2 400
M12 68.6 700
M16 168 1650

@ %2 Table2
[E242# Combination Bolt $7EHHAE Fastening Torque
(N-m) (kgf-om] H .

M3 15 15 (el
M4 35 35
M5 7.1 7
M8 12 120
Mg 30 300
M10 60 612

HREXDANER TG , AL EATREA—HRE, THROSBN.

You can assemble the motor with keyway like above when take off the key. There is no risk of dislocation.



it
3R
ASSEMBLY
W REHAYZ%E Peducer Assembly
BRI RIRERE LR | BEMALKEHEELERNER | (FRAERFSTRIMEENHERBIEHER. &% &

Jointing with reducerln case of jointing a reducer with the device, make sure that the combining side is plane without inconsistency, and when assemble reducer outo equipment,
ensuring assembly surface smooth and without burr. See Table 4.

@ 384 Tabled
THEAUEI B2 Reducer Combination Bolt #5248 Fastening Torque
(N-m) (kgf-cm) >
M5 5.8 60 7
M6 9.8 100 I'UI')I
M8 19.6 200 <
M10 39.2 400 E
M12 68.6 700 <
M16 16.8 1650

I iZE A HHEH Connection To The Output Shaft

JERREEIN Cautions:

1. R ERERAER. BREN , BT N AYE R,
When assemble a coupling, pulley, etc. onto the output shaft,make sure that excessive axial load
not be given to the output shaft.

2, iBDIERETEIEIN | LA IR R A ERZ R, ‘ﬁ'ﬂ
=

In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer
may be damaged, therefore it shall be prohibited.

3. RERABESBFNHIBEINERAND , TRSSHIRERR  RENBERDIE
=
If the shaft or key of a coupling assembled is loosed, it may cause carbonization, so be careful
when assembling.

4, LEABGREN | BEAEEBIERSREEE.
For assembling of a coupling, fix the key with a set bolt.

5. EREENER S ARG,

Please adjust shaft centre carefully in connecting.




AE/AF/ZBF ¢ &

AE/AF/ZBF SERIES



AE/AF/ZBF i R

AE/AF/ZBF SERIES

P17



AE/AF/ZBF ¢ &

AE/AF/ZBF SERIES



NY0I1VLVI

TRANSMISSION PLANETARY PLANETARY GEAR BOX
ERBERREBDHI ZDE/ZDF(S)55

RS RS

<D MATIE <0 MATIE

PLANETARY GEAR BOX

ZDR/ZDGF(S)R3!
BT R

<o MATIE

DC BRUSHLESS GEAR MOTOR CYCLOIDAL PIN WHEEL
LRI PRECISION REDUCER

L

ZD MATIE ZD ATIE

DRUM MOTOR

FOENR AR

Z0D MATIE

www.zd-motor.com »)



< MATIR

PLANETARY GEAR BOX
CATALOGUE

FiRPRDBEREEDRBERLT
NINGBO ZHONGDA LEADER INTELLIGENT TRANSMISSION CO.,LTD.

ik, W IBRESHRAT LT AXFHHK—I81855
Add : NO.185 1st Xinxing Road,New Industrial Zone, Cixi City, Zhejiang, China.

FRRACEEEENREERAE

ZHONGDA CHUANGYUAN PRECISE TRANSMISSION EQUIPMENT CO.,LTD.

ol T ETIRMMER K EZER159S

Add : No.159 Jinci Road, Hangzhou Bay District, Ningbo, Zhejiang, China.

ERESES:

E3iE. 0574-63537377
fEE; 0574-63534879
E-mail: china@zd-motor.com

EfFESRS:

International trade department:

Tel: 86-574-63530538 Fax: 86-574-63534879
E-mail: manager@zd-motor.com

E-mail: trade@zd-motor.com

EZIFE, SiEE:

www.zd—motor.com

B RAREE R, BABTEM.

Any changes in product contents without notice.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20

